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G Ef BB E HEE BAREATTE (XFHE) AR C=60cmk i byhEE2t 10K Ky 0. 40 0.4022 [t/10&

TREM |  MANE | GEE SARANE (23HF) G 0=60cmiL £ 120omF by )T A2t 107 %y 0.49 0.4917 |t/10%
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102072 | BABE | BB A4 AHA IXEABE H=750emBl | b EE2 | 1004 XY 7.54 6.7824 [t/100%
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10304-2 | BORBIE | AEM | EARANE (22HE)  AEE G=180cm:l k- 240cmsk bhEE2 | 10K HY 3.74 2.2457 |t/10%
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TiGEfl| BARIE #HEE BAEARTE (XFWE) HRHE C=60cm=k i MyhEE2t 10K LY 0.67 0.4022 |t/10&
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+ o]
104032 | dAmE | ame T A2EOE0S Q’Eﬁg ) H=1500mizt_E300cmsk % \yrEsE2L | 100mT By 2.80 16800 |t/100m2
10404-2 | BIABIE | SEA ji%fgz%'“g;yégg H=100em 3L L 300cmsk bhEmE2 | 108 HY 0.09 0.0661 [t/10%%
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50102-2 | f%i% - RIS B & 7 - EmAT Vv B A4 5t 1000m2 %Y 6.53 14. 3688 |£/1000m2
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50208-2 | f%i% - BIRE BAGE Tt 0=1800mizL £ 2400m3k i Vv EEAA 5t 10K %Y 16.33 17.9608 |t/104
503012 | % - BIRE niEE AE C-60cn% GorEmrt | 10K BY 0.22 01122 [t/10%
50302-2 | fki% - BIRE MR AE C=60cmiL £ V590 BBt 104 %y 0.67 0.3400 /10K
503032 | (ki - RS MRE T C-600mF GoEE | 10K BY 0.22 01122 [t/10%
50304-2 | f%i% - BIRE MR T C=60cmiL £ V590 BBt 104 %y 0.67 0.3400 |t/10%
50401-2 | (i - RIRS PEA LR H=1500mk Vv EEAA 5t 100K %Y 0.08 0.0674 /100
50402-2 | {Ri% - RIRE PEALR H=1500mizL_E 3000m3k Y BB 5t 100K %Y 0.37 0.3036 |t/1007
50501-2 | f%i% - BIRE EARIE C=60cmk Vv EEAA 5t 10K %Y 1.86 1.3960 [t/10%
50502-2 | f%i% - BIRE EARIE 0=60cmL £ 1200mFk % Vv EEAA 5t 10K %Y 722 54165 |t/104
50503-2 | f%i% - BIRE EARIE 0=1200mizL E 1500m3k VB 5t 10K %Y 8.25 6.1890 |t/104
50504-2 | f%i% - BIRE EARIE 0=1500mizL £ 180omak Vv EEAA 5t 10K %Y 8.99 6. 7430 |t/10%
50505-2 | f%i% - BIRE PEARRIE H=1500mk % Vv BB 5t 100K %Y 0.43 0.3256 |t/100%
50506-2 | f%i% - BIRE PEARRIE H=1500miz._E 3000m3k i Vv BB 5t 100K %Y 0.94 0.7016 | /1007




